o
[N

o

<3 @> (rad)
o
=
[y (6)]

Ratiq

: : : N
F : : o, o
bR R R | e R e e A (R R
F : : o F
U S . e S R R S
:_ ---------- & ' + ' \ 01:
ERRREERTEE] SRR AR B Peeeg e o O AR SRR
i | S O S e
SRR R SO | T s 101  SERRE ST SOPRPRIR S
e R e R SRR It S
RRRREEEEEEY SRR S ERaas | ST e —0.15fF - iee e
: T | 1 ' |! L ||||||! EEERTIT 9_-0\»’2: 1 |
r ’ : SR
r 24 r
1_— ----- i - - - - - s 1_—-
'71 :2 . 095:1
10 1 TPlpOT (PCA tloobeamlinélf) 10 1
-l 1V 5 VA AN
::%S;-%:@%&%S
—— BR\-H—snaina saiisne
- A b e = 80F---- -
F + [ L N = :
- P o 1§ B R, < 60F----
r . 2o} r h A
- 8 ETERE PRPPLIRRS v 40 f-H -
. A8 I — 20F--4-|[f-
o A0 S of I
:_"" '-u-i" """"""""""" _20:_""“ :
- A ~aof4-{Hf-
- A ~eof-—{-{If-
- O B PRTPRRS -80F----
f MY P Y [ MO P .! L ......! L .9—1.@05 bbbl LELELG ] ......! L
L B *(-ﬁ‘ L
[ @ [
]__—- L R R ]__— ----- L R
C 0.95L

o
©
a

[ay
o
I8

<op/p. > (%)

1

2- -+ :
r |
- -+
F Py
N &
B L a
—— T b A ] ]
2 L
] L
o N
Ph----- E s R PP PP

1

I : 2 3
TPl[:g)T (PCA t%)obeamlin%)o

1

2 3
TPl[g)T (PCA f%)obeamlinép



	Contents
	Page 1


